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WORK & ENERGY

AT WORK AND ENERGY (12)

Directions: Solve the following problems. Each is worth 5 points. Show all work and circle
your answer.

1) A block is at rest on the upper edge of a hemisphere of radius 0.5 m. The block is
released to slide down the side of the hemisphere. Determine the speed of the block at
the bottom of the hemisphere.
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2) Determine the coefficient of friction for a 14 kg cart that was initially sliding along at 12
m/s and slows to a speed of 4 m/s after sliding a distance of 8 m.
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3) There is a ravine that is 3 m wide. Both sides of the ravine are at the same height. A
rope 12 m long rope hangs from the near side of the ravine, directly aligned with the
leading edge. Determine how fast a person would need to run, grab the rope and swing

across the ravine? A AP A
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4) A biker can roll down a level road at 20 mi/hr while generating 0.25 hp. Knowing there
are 746 W=1hp, determine the total resistive force acting on the biker at 20mi/hr.

A, (/¥ G >
oml/* L
) . Ao
7 ) £
- / ( v\ a £
) At 7 PV __— G D/ ¢
/ N\ / >
) mi =
: o '} r
hi Ak
\
A & A
{ 4



p—

Level IKey Pd 1

5) Determine the ideal force exerted by a simple machine where 343 N are applied to the
machine for a distance of 0.5 m, and the output of the machine moves a distance of

0.002m.
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6) Determine the work done in the graph below:

0 Foce vs. distance

Force (N)

A
R

0 2 4 6
(3.469, 6.938) Distance (m)
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